[image: image1.png]Ch22, Pe+8  In Figure 22:30, particle 1 of charge ¢, = -5.00q and particle 2 of charge g2 = +2.00q are fixed to
an.x axis. (a) As a multiple of distance L, at what coordinate on the axis is the net electric field of the particles
zero? (b) Sketch the net electric field lines.

Fig. 22-30 Problem 8.

Ch22, P+«26 Charge is uniformly distributed around a ring of radius R = 2.40 cm, and the resulting electric

field magnitude E is measured along the ring's central axis (perpendicular to the plane of the ring). At what
distance from the ring’s center is £ maximum?




